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1. &SN REEH S USB [ 232 it Es S8 (Comport ) HYEE &7 I

2. kg wh% , EEREE | N81LN82 HYRLE =& I

3. I RSA85 HYIE AR E SR

HAS 103 (Al)

LRSI (16 HEf) 2 S

0000 5% 1 45 Al AN S
0001 5241 Al RN IE
0002 55 34H Al RUNEE
0003 5B A4H Al RUNEE
0004 55 54H Al RUNEE
0005 6 4B Al N
0006 B 74 Al RUNEE
2007 % 840 Al N
0008 # 94 Al BN
0009 5 10 45 Al BUREUE
000A 5 11 4 Al RURNEE
000B 512 4H Al RUREE




000C

5 13 41 Al HUREUE
000D 55 14 41 Al RURNEUE
000E % 15 4 Al HUREUE
000F 55 16 4H Al BUNHUE
0010 %17 43 Al HUREUE
0011 %18 4 Al HUNEE
0012 5519 45 Al BUREUE
0013 5 20 4 Al RUNEH
0014 55 21 4H Al HUNEE
0015 5522 45 Al HUNEE
0016 &5 23 4 Al AURNEUH
0017 55 24 40 Al RUNEE
0018 &5 25 4 Al RUNEE
0019 55 26 45 Al RUNEE
001A 527 45 Al HUREE
001B 55 28 4H Al RUNEE
001C 55 29 47 Al RN (E
001D % 30 45 Al HUREUE
001E 55 31 40 Al BUREUE




001F 55 32 4 Al BT
JH#S 03 (DI)
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0142

BIT 0=5 1 45 Dl
BIT 1 =25 24H DI
BIT 2 =25 3 4f DI
BIT 3 =55 4 4§ DI
BIT 4 =255 %{ DI
BIT5 =55 6 48 DI
BIT 6 =55 7 48 DI
BIT 7 =55 8 4H DI
BIT 8 =55 9 4H DI
BIT 9 =5 10 4H DI
BIT 10 =3¢ 11 4H DI
BIT 11 =5 12 4f DI
BIT 12 =5¢ 13 4H DI
BIT 13 =¢ 14 4§ DI
BIT 14 =5 15 4{ DI

BIT 15 =2¢ 16 4H DI




R 103/ BAMS

106 ( EERER )

HARSEE (16 #Er) S8 stHH
101 LRI 0000(16 #E{iz)= 9600,N82

() SWI1 &2 0 irE
#A SD3000 HYEER
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Baud rate = 9600.N.8.2 °

(2) & SD3000 » S8 Hii
25y Baud rate By
9600.N.8.2 »

SR1% ELSD3000#&RID =
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QB aEERERY Baud rate 5%
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(D SW1 fE2 1~9 BIfir
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0001(16 #E{ir)= 19200,N82
0002 (16 #Efiz)= 38400,N82
0003 (16 #Efir)= 115200,N82
0004(16 #£fir) = 9600,N81
0005 (16 #Efir)= 19200,N81
0006 (16 #Efir)= 38400,N81
0007 (16 #Efir)= 115200,N81
0008(16 #£fir) = 9600, 081
0009 (16 #{ir)= 19200, 081
000A (16 #£fir)= 38400, 081
000B (16 #Efir)= 115200,081
000C (16 #£{ir)= 9600,E81
000D (16 #Efir)= 19200,E81
000E (16 #Efir)= 38400,E81

000F (16 #£fir)= 115200,E81




SEHAT< 103/ B A< 106

(DO)

AR SN E (16 #E(T) %
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0140 DO
1~16 4H

BIT 0 =55 144 DO
BIT1=52 %4 DO
BIT 2 =55 3 44/ DO
BIT 3 =55 4 44 DO
BIT4 =55 5 44 DO
BIT5=5 641 DO
BIT 6 =55 7 44 DO
BIT 7 =55 8 4 DO
BIT 8 =55 9 4 DO
BIT 9 =55 10 44 DO
BIT 10 =5 11 41 DO
BIT 11 =25 12 41 DO
BIT 12 =55 13 4H DO
BIT 13 =5 14 43 DO
BIT 14 =55 15 43 DO

BIT 15 =25 16 44 DO

0141 DO
17~32 4

BIT 0 =55 17 45 DO

BIT 1 =55 18 4 DO




BIT 2 =55 19 45 DO
BIT 3 =55 20 4 DO
BIT 4 =55 2145 DO
BIT 5 =28 22 45 DO
BIT 6 =2F 23 44 DO
BIT 7 =55 24 45 DO
BIT 8 =55 2544 DO
BIT9 =55 26 45 DO
BIT 10 =3¢ 27 2 DO
BIT 11 =55 28 45 DO
BIT 12 =55 29 24 DO
BIT 13 =5 30 2 DO
BIT 14 =2 31 44 DO

BIT 15 =3¢ 32 2 DO




HHGS 03/ HAMS 06 (TYPE)
HRSWIEQ6 ) | 2% I

0040

% 14H TYPE

0000(16 #Efir)=J
0001(16 #fr)= K
0002 (16 #E(7)=T
0003 (16 #:fir)=E
0004(16 #fi7) = B
0005 (16 #:fir)= R
0006 (16 #:fir)=S
0007 (16 #fir)=N
0008(16 #fir) =C
0009 (16 #Efir)= D-PT
000A (16 #fir)=J-PT
000B (16 #fir)= mA
000C (16 #fir)= mV

000D (16 #:fir)=V

0041 e

240 TYPE Bl
0042 e

% 341 TYPE Bl
0043 e

% 440 TYPE Bl
0044 -

%541 TYPE Ells




0045

%5 6 40 TYPE Eills
0046 5% 7 4 TYPE ElS
0047 5 8 4 TYPE ElS
0048 % 9 41 TYPE ElS
0049 5510 48 TYPE Els
004A 5% 11 48 TYPE ElS
0048 5 12 4 TYPE B
004C 55 13 4 TYPE BES
004D 5 14 40 TYPE EES
004E 55 15 4 TYPE cils
004F % 16 4 TYPE glis
0050 55 17 4f TYPE El=
0051 518 4 TYPE CAs
0052 55 19 4F TYPE CAs
0053 5 20 4F TYPE CAs
0054 55 21 4F TYPE CAs
§ 55 22 4 TYPE s
0056 55 23 4 TYPE BLE
0057 55 24 4 TYPE ERs




0058

55 25 41 TYPE Bl
0059 5 26 41 TYPE Bl
005A 55 27 4 TYPE Bl
0058 5 28 4 TYPE Bl
005C %5 29 4H TYPE Eill
005D 5 30 4 TYPE Bl
005E %5 31 48 TYPE EAs
005F 25 32 4l TYPE [ 1
sEHLAr< 103/ B Adi< 106 (DP)
BESHIE6 L) | 2K i
0120 55 1 45,5 DP 0000(16 #fir)= 0000

1. FNEER

H <R PH A RE RN/ NECRE— 1z

2. 380 A A] DAE) NBORE =111

0001(16 #Efir)= 000.0
0002 (16 #fir)= 00.00

0003 (16 ##fir)= 0.000

0121 55 2 4H/|\E % DP NS
0122 5 3 /NI DP EIRS
0123 5 4 4H/NELEE DP Cills
0124 5 5 4H/)\EEL DP =]
0125 5 6 4H/)\E(EL DP =L




0126

55 7 4H/)NECES DP AL
0127 5 8 4H//\J{ B DP [=].E
0128 5 9 4H//\g{ B DP [=].E
0129 5 10 4H//\#C55 DP =]
012A 5 11 4H//NCBE DP [
012B 5 12 4H/NBCEs DP =L
012C 55 13 4H/Ng{ %5 DP Ei=
012D 55 14 4H/\#4%E DP [ 1%
012E 55 15 4f/)\ 85 DP Eill=
012F 55 16 4H// N85 DP 5] L
0130 55 17 4H/NE % DP =L
0131 4 18 4fl/[\g{ %5 DP FiE=
0132 5519 4H/)\ B4 %h DP Cils
0133 5 20 4H//NBCES DP =L
0134 5 21 4F/NFBG DP [F I
0135 5 22 4H/NBCES DP =L
0136 5 23 45/ EE DP = I
0137 5 24 4H/|NEE: DP = I
0138 5 25 4H/NECES DP EIRS




0139 5 26 45/ NECES DP =L
013A 5 27 4H/NEEE DP =L
0138 5 28 4H/NBCES DP =L
013C 5 29 4H/NBCES DP =L
013D 5 30 4H//\CE5 DP 5L
013E 5 31 4H/\BCEs DP =L
013F 55 32 4/ NI DP Ei=
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106 (LoLt,SCAL)
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AVEE—4H SCAL 35 7E & 0

00EO
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APEE—4H SCAL 3 E £ 0
POAL 25 2 4H LoLt El=
00EL 55 2 45 SCAL Ells
POAZ 25 3 4H LoLt El=
00E2 45 3 4H SCAL Gl
POA3 25 4 4H LoLt =k
00E3 % 4 4H SCAL =l
00A4 55 5 4H LoLt ERe
00E4 % 5 4H SCAL =
00AS 55 6 4 LoLt = F
00ES % 6 4H SCAL E
Q0A8 25 7 4H LoLt s
OO0 557 41 SCAL Eli=
O0AT 25 8 4 LoLt Bl
- %5 8 4H SCAL Gl
P0AS 25 94H LoLt Gl
RS 25 9 ¢4 SCAL &
00A3 % 10 24 LoLt Gl
00E9 %5 10 45 SCAL Gl




00AA

%5 11 4H LoLt Eills
00EA %5 11 4H SCAL Eilis
00AB %5 12 4H LoLt Eilis
00EB 5 12 4 SCAL Eilis
00AC %5 13 4H LoLt Eilis
00EC 5 13 4H SCAL Eili=
00AD 55 14 44 LoLt El
00ED 55 14 4f SCAL EiNS
00AE 5 15 % Lol t il
O00EE 5 15 %6 SCAL il
00AF 55 16 4H LoLt EH
00EF %5 16 4H SCAL Eills
00BO 5517 48 LoLt ElS
00F0 55 47 2H SCAL Elis
00B1 2 18 4f LoLt ElS
00F1 5 18 4H SCAL Eilis
00B2 5519 4f LoLt il
00F2 25 19 4H SCAL il
00B3 55 20 41 LoLt = E




00F3

55 20 4H SCAL s
00B4 5 21 4H LoLt Eilis
OOF4 55 21 25 SCAL 5] |
00B5 5 22 4H LoLt Eilis
00FS 5 22 4 SCAL Eilis
00B6 5 23 4H LoLt Eili=
00F6 & 23 4H SCAL A _E
00B7 55 24 41 LolLt ERS
O0F7 55 24 4 SCAL Elis
00B8 £ 25 4 LoLt El
O0F8 %525 70 SCAL Gl
00B9 %5 26 4f LoLt Bl
00F9 5526 4H SCAL ElS
00BA 55 27 47 LoLt ElS
O0FA =5 27 & SCAL Eils
00BB 5 28 4H LoLt Eilis
00FB 55 28 4H SCAL EN=
00BC 55 29 4f LoLt il
00FC 55 29 4H SCAL Eills




00BD

25 30 4H LoLt El=
00FD %5 30 2H SCAL 5] |
00BE 55 31 4H LoLt il
OOFE 5 31 4 SCAL Eli=
00BF 55 32 20 LoLt Eills
OOFF %5 32 2H SCAL EIlN=
SEEES 103/ EAMS 106 (HILt)SCAH)
BGSWRIEQS L) |2 ]
0080 5 1 40 Hilt S =

R L 4R 1R (B S R AR 5 e —

Bi4n:
5—4H HiLt 2% 100

AV —4H SCAH 225 E &y 100

00CO

2% 1 4 SCAH

SRIVEES I E =R
R DA 0 P S (L e R AR 5 —

73




Ba:
—4%H HiLt 35 100

Al —4H SCAH L5 /& 100

0081 5 2 4 HiLt L
oL % 241 SCAH mL
0082 5 3 4 HiLt L
002 %5 3 4 SCAH E k-
0083 o5 4 43 HiLt E
00e3 % 4 40 SCAH E
0084 55 5 47 HiLt i
00C4 % 5 4 SCAH i
0085 %5 6 4 HiLt =
00C5 % 6 4 SCAH =
0086 5 741 Hilt s
00C6 5 747 SCAH =
0087 8 41 HiLt i
& 55 8 4 SCAH =
0088 55 9 47 HiLt HE
00C8 %5 9 4 SCAH Eis




0089

55 10 40 HilLt Gl
00C9 % 10 4H SCAH Elis
008A 55 11 41 Hilt Eli=
00CA 5 11 40 SCAH [E]_F
008B 55 12 4F HiLt &I
00CB 5512 41 SCAH s
008C £5 13 45 HiLt Eils
00CC 5 13 4 SCAH [k
008D £ 14 4f HiLt Eiis
00CD 55 14 4H SCAH ERs
008E 5 15 4H HiLt [E £
00CE 5 15 4 SCAH ENS
008F 55 16 4 HiLt Ells
00CF 55 16 4H SCAH NS
0090 5 17 40 HiLt 5] I
00D0 % 17 4H SCAH 5] I
0091 55 18 4H HiLt Eill=
00D1 =5 18 4H SCAH ENS
0092 55 19 4H HiLt Elis




00D2

55 19 4 SCAH Cilis
0093 55 20 4H HiLt &I
00D3 5 20 4H SCAH [E]_F
0094 5 21 4f HiLt Eli=
00D4 55 21 4 SCAH Gl
0095 55 22 4H Hilt ENs
00D5 5 22 4 SCAH Eils
0096 55 23 4H Hilt BN
00D6 5 23 4 SCAH Els
0097 55 24 41 HilLt Eis
00D7 55 24 44 SCAH 5]k
0098 55 25 4f HilLt 5] _E
00D8 %25 40 SCAH & k.
0099 55 26 4H HiLt NS
00D9 5 26 4 SCAH & k.
009A 55 27 4f HiLt &I
OODA 45 27 4 SCAH Eills
009B 55 28 4 Hilt El=
00DB %5 28 4 SCAH Eil




009C

5% 29 41 Hilt = -
00DC 55 29 4 SCAH Eis
009D 5 30 4 HiLt E
00DD %5 30 4 SCAH Eis
009E 5 31 4 HiLt E
00DE %5 31 4 SCAH Eis
009F 5 32 4 HiLt =k
00DF 55 32 4 SCAH Bk




